Question 1

Why Is the energy transition not happening more quickly?

1. First things first, there are more important issues to address
2. Lobbying reached an all-time high

3. Citizens lack awareness about energy issues
4. There is a lack of political leadership
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Question 1

Why Is the energy transition not happening more quickly?

1. First things first, there are more important issues to address
B 10.4 %

2. Lobbying reached an all-time high
I 31.3 %

3. Citizens lack awareness about energy issues
B 26.0 %

4. There is a lack of political leadership
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Question 2

Which percentage of Swiss voters will accept the
Energy Strategy 2050 in the May 21 vote?

1. Lessthan 45%
2. 45-50 %
3. 50-55%
4. More than 55%
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Question 2

Which percentage of Swiss voters will accept the
Energy Strategy 2050 in the May 21 vote?

1. Lessthan 45%
6.1 %

2. 45-50 %
B 19.2 %

3. 50-55 %
N 64.6 %

4. More than 55%

Bl 10.1 %
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